Motion Along a Line ... Set 2

Calculus Practice: Rectilinear Motion

A particle moves along a coordinate line. Its velocity function is v(r) for 1> 0. For each
problem, find the position function s(i’).

1) v(r) =—4r + 33 s(0)=0 2) Wt) =4 — 457 s(0)=0

3) W(r) =47 —307: s(0)=0 1) Wr) =32 - 24r. s(0)=0

5) () = 47 — 427 s(0) 6) w(t) =—4r + 247 s5(0)=0

Il
=

7) (i) = -4 + 39¢% s(0)=0 8) (1) =2t +11: s(0) =26

9) v(f) =4 — 397 s(0)=0 10) Wz) =37 — 261 5(0)=0



Motion Along a Line ... Set 2

Answers

A particle moves along a coordinate line. Its velocity function is v(r) for 1> 0. For each
problem, find the position function s(r).

1) W(f) =—-4F +33¢%; s(0)=0 2) Wi) =47 —45¢; s(0)=0
s(t) = —¢* + 117 s(f) =% — 15¢

3) W(t) =47 - 307 s(0)=0 4) v(t) =32 - 24¢. s(0) =0
s(e) =¢* — 107 sle) =1 —12¢

5) v(t) =47 — 427 s(0)=0 6) v(r) = —aF + 247 s(0)=0
sle) =¢* — 147 s(t) = —¢* + 8¢

7) v(f) =—47 + 397 s(0)=0 8) W) =-2¢+11; s{0)=26
s(t) = —¢* + 137 s(t)=—£ + 111+ 26

9) v(r) =48’ — 397 s(0)=0 10) W(f) =3¢ - 26 s(0)=0

sle) =¢* — 1374 s(t) = £ —13#
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A particle moves along a coordinate line. Its acceleration funection is n{r) for t=0. For each
problem, find the position function s{r) and the velocity function v(r).

11) alt) =-2: s(0)=-63: +{0)=16

13) alr) =2: s(0) = 143: v(0) = —24

15) alt) = 2: s(0) = 40; v(0)=-14

17) alf) =2: s(0)=—-84: v(0)=-5

19) alr) = -6t + 60: s(0) = 0: v(0) =225

12) alf)=—-12¢ +90r. s(0)=0: v(0)=0

14) alf) = -12¢ + 48x: s(0)=0; +{(0) =0

16) alf) =-2: s(0)=11: +(0) = 10

18) alf) =127 + 84r. s(0)=0: +v(0)=0

20) alf) =-2: s(0)=90: v(0)=9



Motion Along a Line ... Set 2

Answers

A particle moves along a coordinate line. Its acceleration function is ﬂ(i’) for r=0. For each
problem, find the position function s(i’) and the velocity function v(r).

11) alf)=-2: s(0)=-63: v(0)=16

st) =2 +161—63.vl) = -2t + 16

13) alr) =2: s(0) = 143; +(0) =24

s(t) =1 = 24r+ 143, (1) =2t — 24

15) alr) = 2; s(0) = 40; +(0) =-14

sle)=1>—14r+40.v(r)=2r- 14

2: s(0) =-84; v(0)=-5

17) alf)
sle) =2 —5t—84.4(t)=2t—5

19) alr) = -6t + 60; s(0)=0: w0)=-225

s(t) = = + 3072 — 2251 W(t) = 347 + 607 — 225

12) alf) =-127 +90r. s(0)=0: v(0)=0

sle) == + 157, Wle) = —4¢® + 457

14) alf) =—12¢ + 481, s(0)=0: v(0)=0

sle) = —* + 82 W(r) = —4F + 247

16) ald) =-2; s(0)=11: +0) =10
sl))=— + 106+ 11, W) =-2r+ 10

18) alf) =—127 + 84r. s(0)=0: v(0)=0

s0) =~ + 147, ) = 4 + 227

20) ale)=-2; s(0)=90; v(0)=9

s() == +9r+90.v(t) =2 +09



